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FEDERAL (EEOICPA) PROCEDURE MANUAL Chapter 2-1400 
 
Part 2 – Claims   Wage-Loss Determinations 
________________________________________________________________ 
 

a. Adjustment of Wages for Inflation.  Wages must be 
adjusted for inflation for each calendar year that wage-
loss is claimed.  The wages are adjusted for inflation to 
reflect the value (buy power/worth) during the calendar 
year in which the covered Part E employee first experienced 
wage-loss due to a covered illness. The CE can perform this 
calculation by using the CPI Inflation Calculator on the 
Bureau of Labor Statistics’ website 
http://www.bls.gov/data/inflation_calculator.htm. 
   

Example: The employee claims wage-loss first 
commencing in 1993 and ending in 2002 when the 
employee reaches normal Social Security retirement 
age. The CE must adjust the yearly wages for inflation 
to reflect the value of the wages for the calendar 
year in which the wage-loss first commenced (which in 
this example is 1993). If the employee earned $38,000 
in 1995, this wage is adjusted for inflation using the 
CPI Inflation Calculator to $36,030.20 to reflect the 
value in 1993 dollars. (See Exhibit 8 for Wage-Loss 
Worksheet #2, Adjust Wage for Each Year of Claimed 
Wage-Loss) 

  
b. Comparison with the AAW.  The CE compares the AAW of 
the covered Part E employee with his or her adjusted wages 
in later calendar years to ascertain the wage-loss 
percentage for each claimed year of wage-loss. For example, 
$36,030.20 (Adjusted Wage) ÷ $46,000 (AAW) = 78% (Wage-Loss 
Percentage).  (See Exhibit 9 for Wage-Loss Worksheet #3, 
Determine Percentage of Wage-Loss and Award Amount). 

 
11. Employee Wage-Loss Compensation. The CE uses the wage-loss 
percentage to determine the amount of the employee’s wage-loss 
compensation.  
 

a.  If the employee’s adjusted wages during a claimed 
calendar year is greater than 75% (X > 75%) of his or her 
AAW, then the employee is not considered to have wage-loss 
for that calendar year and the employee is not awarded 
wage-loss benefits for that calendar year.  
 
 Example #1: AAW    = $46,000 
    Adjusted wages  = $36,030.20 
    Percentage of AAW = 78%   
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